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Complete the Series.
MIOY OISFOMIERIONIMO) alJ@1 066,

(a) 6ADD , BADF , BAET  ........ e

(b) 14A9 , 14AF , 14B5, ........ e,

Xy® a) Considerthe seguence

Qn.

6ADD, 6ADF, 6AE1, --m-mmmmmmmmmee e
Here the 'numbers' are
0,1,2,3,4,5,6,7,8,9,A,B,C,D, E, F, 10, 11, ~—
The difference between 6ADD & 6ADF is 2
ie. 6ADD, 6ADE, 6ADF
(N @
Similarly 6ADF & 6AE1 IS 2
ie, 6ADF, 6AEQ, 6AE1
1 @ |
So Add 2 to BAE1 we erI ge 6AE3 Then add 2 to
6AE3 we will get 6AES5 Therefore the missing terms
6AE3, 6AE5
b) Consider the sequence.
14A9, 14AF, 14B5, ~-mmemmemeee -
The difference between 14A9 and 14AF is 6
The normal sequence is
ie 14A9, 14AA, 14AB, 14AC, 14 AD, 14AE 14AF
M @ @) @ ) (® .
The difference between 14AF and 14B5 is also 6 ,‘
The normal sequence is

ie 14AF, 14BO, 14B1, 14B2, 14B3, 14B4, 1485 |

M@ @ @ G (e
Srmllarlythe next 6 terms in the sequence are given
below.

14B5, 14B6, 14B7, 14B8, 14B9, 14BA, 14BB
M @ & @ G 6

Similarly the next 6 terms are "

14BB, 14BC, 14BD, 14BE 14BF, 14CO 14C1
M @ & @ G ¢

So the mrssmg terms are 14BB and 14C1

6

Find the octal numbers correspondmg to the fol—
lowing numbers using shorthand method.

. Short hand method @d@mx)ﬂﬂ_ﬂ M6 6 IS30ME)H63M

hMINg&:g3es corresponding octal mminyeed OIEMIH.
(a) (ADD)4s -+ (b) (DEAD)4




a) Step 1 : Write down the 4 bit binary equwalent
of each digit.

A D D
1010 1101 1101 -

Step 2 : Divide this number into groups of 3 bits
starting from the right and write down the octal
equivalent.

101 011 011 101
.5 3 3 5
(ADD)16 (5335)g
b) Step 1 : Write down the 4 bit binary equivalent
of each digit.
D E A D
1101 . 1110 1010 1101

Step 2 : Divide this number into groups of 3 bits
starting from the right and write down the octal

_ equivalent.
001 101 11 010 101 101
1 5 7 2 5 5
(DEAD)s = (157255)g
7

Qn.

Xm L.H.S contains 2 & 6

If (126)x = (56)y , then find X andy.

(126)x = (56)Y 0B} X Qo Y Qo &EBY al1S1603H.
So x=2

R.H.S contains 5 &6 S0 yr;e2

LHS>RH.S Sox <yandxzy also
The possible values of X and y are given below.

x|y Reason
8 | 100r 16
0] 16

Case | :
Let x =8 theny =10
(1 2 - B)s

x<y &xzy

it is greaterthan (56)10

1

82 8! 80

" Sowhen x=8theny 10 , ‘

Case ||
Let x=8 theny =16 _
1. 2 6 = 1x82+2x81+6x80
812 181 'Lo
: . =64+16+6
= (86)10
(5 6)16 =5x 16+ 6 x 160
161 160 =80X6=(86)10
So x=8and y=16
Qn.s

If (102)x = (42)y then (154)x = (......)y-

(102)x = (42)y «p®lad (154)x = ()y o O HEB3
olISIENYS.

X@LHS contains 2 S0 S0 x=z2
R.H.S contains 5 & 4 Soy=z2

LHS>RHS Sox<yandxzYy also
The possible values of x and y are given below.
X y Reason
8 [100r16
IR A
Casel. ‘
Letx=8 andy = 10
@ 0 2)s >(42)10
g2 8 80
Sowhen x=8theny =10
Case ll _
Letx=8 andy= 16
1 0 2 = 1x82+0x81+2x
80 :
‘ 82 81 80 .
= 64 +0+2
= (66)10 -
4 2)16 - =4x16+2x160
161 16°
=64 x 2= (66)19
So x=8 and y=16

- then we have fo find the hexadecimal equivalent
of (‘! 54)g For this first convert this into binary thus
again convert it into hexadecimal. First write down:
the 3 bit equivalent of 154.



ie

1 5 4
001 101 100

Then divide this number into groups of 4 bits start-
ing from the right and write down the hexa decimal
equivalent. :

0110 1100

6 c _
- So the result is (154)g = (6C)¢¢ -
Qn. 9 - .
Fill up the missing digit.  (Score 3)
Qil53 6RO al3@leflen3e:.
If (121)4 = (441)p then (121)b = ()40

m L.H.S. contains 2. Soa=x2
R.H.S. contains 4 SO bx2
L.H.S. < R.H.S. So a>band a b also.

Hence the values of a can be 10 or 16.
. The values of b can be 8 or 10.
The possible values of a and b are given below.

a - b Reason
16 10o0r8 '
10 8 only .a>band azb

Case | :Leta=16 and b= 10
(121)16 = (289)10). Sob=10
Case Il : Let a =16 and b=8
(121)16 = (289)10
(441)g = 4x8%+4x8"+1x8°
- = 256+32+1
= (289)10
So a =16 and b=8.
Then (121)8 = 1x82 + 2x81 + 1x80
=64+ 16+ 1= (81)
Qn. 10 -
Fill up the missing digit. ~ (Score 3)
153 e al3@leflond.
If (128), = (450), then (16), = ()10
Y L.H.S. contains 2 & 8. So a2 and a8,
" R.H.S. contains 4 and 5. So b 2.
L.H.S. <R.H.8. so a>b and a=b also. :
The possible values of a and b are given below.

a b Reason
10 | 8only |a>handazb |-
16 | 80or10 | @>banda+b
Case |; a=16 and b=8
(128)46 = (296)10

(450)g = (296)10

So a = 16 and b=8. '
Then (16)4 = 1x16+6x16° = (22),,




